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Help Robot find Rover.  Make a path of increasing 
sums.  You can only move to a box with a larger sum. 
Draw a line to show your path.

8 5
+ 3 3

9 8
+ 5 4

8 5
+ 7 7

9 0
+ 7 8

7 8
+ 3 0

3 2
+ 8 6

3 8
+ 2 3

9 1
+ 5 5

1 4
+ 1 5

2 3
+ 1 2

2 4
+ 1 4

2 2
+ 3 6

5 6
+ 5 6

2 0
+ 9 2

8 3
+ 3 4

9 6
+ 5 5

8 8
+ 9 6

6 3
+ 1 7

4 6
+ 3 2

2 6
+ 5 1

4 7
+ 2 4

8 1
+ 4 9

7 9
+ 3 2

3 4
+ 4 2

6 8
+ 4 1

8 4
+ 9 0

7 9
+ 6 1

2 0
+ 5 9

6 8
+ 1 3

1 7
+ 6 8

4 6
+ 4 0

3 8
+ 5 4

7 7
+ 1 7

4 2
+ 8 8

2 0
+ 6 8

4 1
+ 6 6

8 7
+ 6 1

5 0
+ 2 8

3 8
+ 6 5

8 8
+ 9 9

8 9
+ 8 8

2 7
+ 6 8

3 1
+ 6 0

6 1
+ 3 4

3 0
+ 1 9

1 9
+ 9 5

3 5
+ 6 2

9 9
+ 1 2

8 3
+ 2 2

1 9
+ 8 1

1 7
+ 8 0

7 0
+ 8 9

5 2
+ 7 1

7 2
+ 1 1

5 9
+ 2 0

2 2
+ 8 0

4 4
+ 6 9

1 6
+ 9 8

8 7
+ 2 9

8 2
+ 3 5

5 2
+ 7 2
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Mr.  Brown made 320 cups of macaroni and cheese for the school lunch.  There were 16 
cups left after lunch.  How many cups of macaroni and cheese were eaten?

Twenty bubbles flew up in the sky.  Twelve bubbles popped.  How many bubbles were left?

Adam read a book about dinosaurs.  The book said that an Apatosaurus might grow as 
long as eighty feet.  An adult blue whale might be ninety-nine feet long.  How much longer 
could a blue whale be than the largest Apatosaurus?
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Amy bought a puzzle for her brother. The 
puzzle cost $2.51. Amy gave the clerk $5. How 
much change did she get?

Jack held out his hand. He had 1 half dollar, 1 
quarter, 2 dimes, and 4 pennies in it. Amy 
made a wild guess that he had 97¢ in his 
hand. What amount did he really have in his 
hand?

Amy is 63 inches tall.  Megan is exactly 5 feet tall.  Who is taller?  By how much?

Justin's favorite player is number 60 - 19.  "What's your favorite player?" Justin asks Kevin.

"My favorite player's jersey has a number that is 3 less than your favorite player," Kevin 

replies.

What number is on the jersey of Justin and Kevin's favorite players?
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The block above is the sum of the two blocks below.  Fill in the missing blocks.

28 6 18 35

53

135

19

46 42

181

17

19 39

125

8 16 3 12

hge

huge

hyoj

hage

4
x 7

2
x 1

5 5
- 3 3
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Last year it rained 85 
inches in the forest. This 
year it rained 58 inches. 
How many inches did it 
rain in the last two 
years?

Jacob wrote a story. It 
was about a polar bear. 
The bear's name was 
Philip. Philip liked to fish. 
He caught six fish every 
day. How many fish 
would Philip the Polar 
Bear catch in four days?

The police department 
just bought 7 new cars. 
One car has 4 wheels. 
How many wheels do 7 
cars have?

Here is a puzzle for you 
to solve. Draw coins to 
show eighty cents in 
three different ways. Use 
only half dollars, quarters, 
and dimes.

6
9

+ 1 3

7
1

+ 4 3

3 5
+ 1 6

1
x 1 2

5
x 4

Write a word problem for
4 x 4 = 16.

Can you think of a five-letter word 
that has the vowel A in it?

7 8 + 6 = 8 0
- 3 3

9 8
- 9 4

2 1
+ 7 4

7 x 8 =

7
x 3

20 + = 37

9 + = 35
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Add.  Fill in the blanks.

+ 7 9

9 18

2 9

+ 7 2

4 11

11

wear

wair

wihr

wearr

Write the final part of the math analogy.

2 x 10 : 20 :: 10 x 8 :

Explain why you think your answer is correct.

7 5 - 8 =

4 6

2

+

9 6

Fill in the blanks with
these numbers:

3, 8, 1

9

6 4

+

9 8

Fill in the blanks with
these numbers:

5, 1, 1

Color in 2
3 of the rectangle.

6 18 3 27

4 2
+ 3 1

3 6

4 32

turn

tirn

tuurn

turrn

7 + 8 = 11 - 4 = 16 - 8 = 1 + 4 =
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2

+ 4

6

Fill in the blanks with
these numbers:

3, 3, 0

4

+ 1

6

Fill in the blanks with
these numbers:

3, 0, 7

Color in 1
3

.

2 9 - 4 =

3

- 1

2

Fill in the blanks with
these numbers:

1, 2, 1

9 8

- 2

Fill in the blanks with
these numbers:

5, 7, 3

3 3
+ 6 0

whaet

wheat

weat

whea

600 615 596 601

Write the numbers in order from largest to smallest.

largest

smallest

Round to the nearest thousand.

7,677 is rounded to 

7,449 is rounded to 

2,454 is rounded to 

9 3
- 6 1

9 2
- 9 1

4 5
- 1 4

word root voc can mean voice vocal, vocalist

8 64

1
x 1

7
x 6

8
x 7

12 + = 25
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334,7
+ 779,7

989,9
- 885,7

614,8
+ 130,1

009,3
+ 390,9

463,9
- 802,4

099,61
- 379,8

403,8
+ 623,1

343,7
+ 563,4

931,5
+ 888,4

150,31
- 089,7

247,01
- 075,2

778,9
- 343,6

003,4
+ 567,5

879,5
+ 719,8

227,71
- 486,8

712,1
+ 098,2

030,4
- 242,2

722,51
- 158,9

021,01
- 387,8

693,9
+ 783,1

304,1
+ 757,5

576,2
+ 276,9

102,31
- 404,7

854,11
- 389,2

148,61
- 378,7

793,2
+ 653,9

364,41
- 644,9

940,7
+ 033,7

5
+ 4

+ 7

+ 3

+ 8

- 4

- 6

71
+

91
+ 6

+ 2

72
+

13
+

53
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Each box needs a number from 1 to 9.  You may re-use numbers.

One set of sums has been done for you.

sum of

8
sum of

6
sum of

8
sum of

9
sum of

5
sum of

5
sum of

7 3 2 2
sum of

12
sum of

5
sum of

10
sum of

10
sum of

6
sum of

8
sum of

8

sum of

7

sum of

7
sum of

9
sum of

4
sum of

5
sum of

8
sum of

8
sum of

9
sum of

8
sum of

7
sum of

4
sum of

8

sum of

7
sum of

4 2 2
sum of

8

3 1
- 2 5

4 20 5 30

Mary has 6 tomato plants. 
Each plant has 5 
tomatoes on it. How many 
tomatoes are there in all?

0 6

- 3

4 8 8

Fill in the blanks with
these numbers:

8, 1, 8

1 5 6

+ 5

3 0

Fill in the blanks with
these numbers:

4, 7, 7

3 6
+ 8 8

7 9
- 7 1

1 + 7 = 14 - 9 = 17 - 9 = 6 x 1 =
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Fill in the missing numbers.  How?  The sum of the four surrounding numbers is in the center of each square.
Exactly one of the four numbers has to be one of these numbers: -3, -8, or -7.
The other three numbers have to all be DIFFERENT and must be from these: 5, 10, 7, 
19, 18, or 4.

2118 7

-8

4

8 5

-8

greater than -8

4

31 19

-3

even

22
less than 10

19

less than -3

20 -8

greater than -8

either 4 or 5

28 7

even

greater than 4

33 19

less than -3

greater than 4

35
even

either 4 or 5

either -8 or -7

41
even

7

greater than 4

odd

27
greater than 4

less than 19

23
less than 19

either -8 or -7

29
even greater than -7

odd

greater than 5

29
greater than -8

less than 19

either 7 or 19

20
greater than -8 either 7 or 4

odd

even

either 7 or 4

greater than 5

less than 10
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Ready to make equations?  There is a missing equation in each box.
Circle the numbers once you find it!

A
-

Find a
subtraction fact.

99 30 22

38 56 48

41 84 11

B
-

Find a
subtraction fact.

47 67 40

70 20 46

16 34 42

C
-

Find a
subtraction fact.

41 3 30

20 44 63

81 58 9

Equations:
Write the equation facts you found.

A 41 - 30 = 11

B - = 47

C - = 41

Fill in the boxes so each line equals 10.

10

- 6

1 x

÷ 3

( + ) - 16

Circle the correct plural of the 
word scarf.

scarfs scarves scarfes

scarvies scarffs scarvs

4 8
- 2 1

6 + = 9 14 + = 23 7 + = 12 4 + = 6
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Perimeter = Perimeter =

Perimeter = Perimeter =
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Can you draw ONE line going through ALL the circles?  Your line can go left, right, up, or down.  It cannot 
go diagonally.  Your line cannot cross over any part of the line you have already drawn.
You MUST TURN in a BLACK circle.  Do NOT TURN in a WHITE circle.

The first puzzle shows a correct line going through all the circles.

Example: Finish the line:

Write + or - in the circles.

8 2 1 = 2 15 12

3 12 7 = 9 7 6

6 36

9 27

blend

bleend

blen

blehn

10 29 3
4

567
8
9
10

11 12 1
2

2 x 3 =

5 6
+ 1 6

Expand the number.

789 = + + 9

word root vert can mean turn extrovert, revert

8 x 5 =
5 25

7
x 9

9
x 2
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